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Reasoning Mega Quiz for SSC CGL 
 

Q1. Select the Venn diagram that best illustrates. The relationship between the following dames.  

Vegetable, Capsicum, Yellow  

(a)  

 

 (b)  

 

(c)  

 

(d)  

 

 

Q2. Which number will complete the following series? 

6, 11, 21, 36, 56, ? 

(a) 42  

(b) 51  

(c) 91 

(d) 81  

 

Q3. ‘BDFH’ is related to ‘LNPR’ in the same way as ‘RTVX’ is related 

to–  

(a) BDFH 

(b) ZBDF  

(c) BDFZ 

(d) YZAB  
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Q4. Find the number opposite to 4.  

 
(a) 3 

(b) 1  

(c) 2  

(d) 5  

 

Q5. How many triangles are present in the following figure?  

 
(a) 9  

(b) 11  

(c) 10  

(d) 12 

 

Q6. A Paper is folded and cut as shown in the following problem figure. Select the answer figure that depicts 

how the paper will appear when unfolded.  

 
(a)  

 
(b)  

 
(c)  

 
(d)  
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Q7. Which of the following is odd number from the given alternatives ?  

(a) 145 

(b) 463 

(c) 581 

(d) 651 

 

Q8. Complete the given series-  

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q9. Which latter will come last if arranged according to dictionary. 

(a) Running 

(b) Roasting 

(c) Resting 

(d) Rust 

 

Q10. A father is now three times as old as his son. Five years back, he 

was four times as old as his son. The age of the son is – 

(a) 16 years 

(b) 15 years  

(c) 13 years 

(d) 14 years 
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Q11. Select the option that is related to the third. Letter-cluster in the same way as the second letter-cluster 

is related to the first letter-cluster. 

NATION: SEQFMP: : PROPER 

(a) KLVMPC 

(b) UVLMCT 

(c) TCYNJX 

(d) TVNYPT 

 

Q12. Select the combination of letter that when sequentially placed in the gaps of the given letter series will 

complete the series  

ab _ b _ abeb _ ab _ bc 

(a) bcea 

(b) abce 

(c) ecce 

(d) ebbc 

 

Q13. Select the venn diagram that best illustrate the relationship between the following classes. 

Tall men, Black haired people, Indians 

(a)  

 

(b)  

 

(c)  

 

(d)  
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Q14. Complete the given series. 

9, 5.5, 7.5, 19, 84, ?  

(a) 652 

(b) 688 

(c) 621 

(d) 695 

 

Q15. Select the related number from the given alternatives. 

357 : 714 :: 468 : ? 

(a) 579 

(b) 417 

(c) 936 

(d) 864 

 

Q16. Raam is brother of Atul. Rekha is sister of Rohit. Atul is son of Rekha. How Raam is related to Rekha 

(a) Son 

(b) Brother  

(c) Nephew  

(d) Father 

 

Q17. Two different positions of the dices are shown. Find the number opposite to the face having 2. 

 
(a) 3 

(b) 4 

(c) 2 

(d) 1 

 

Q18. Find the odd one out from the given options.  

(a) A 

(b) H 

(c) F 

(d) N 

 

Q19. Three of the following four words are alike in a certain way and 

one is different. Pick the odd one out. 

(a) Mouse 

(b) Phone  

(c) Monitor 

(d) Cpu  

https://www.adda247.com/product-onlineliveclasses/3916/ssc-maha-pack-1-year-validity
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Q20. Which answer figure will complete the pattern in the question figure? 

 
(a)  

 
(b)  

 
(c)  

 
(d)  

  
 

Q21. From the given answer figures, select the one in which the question figure is hidden/embedded.  

 
(a)  

  
(b)  

 
(c)  

  
(d)  
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Q22. A piece of paper is folded and punched as shown below in the question figures. From the given answer 

figures, indicate how it will appear when opened?  

 
(a)  

  
(b)  

  
(c)  

  
(d)  

  
 

Q23. If a mirror is placed on the right side of image, then which of the answer figures is the right image of 

the given figure? 

 
(a)  

  
(b)  

 
(c)  

  
(d)  
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Q24. Select the figure that will come next in the following figure series? 

 
(a)  

 
(b)  

 
(c)  

 
(d)  

 
 

Q25. There of the following four words are alike in a certain way and one is different. Pick the odd one out.  

(a) Dispur 

(b) Thiruvananthapuram 

(c) Kerala 

(d) Amaravati 

 

Q26. Select the option that is related to the third term in the same way the second term related to first. 

34: 65 ∷ 19: ? 

(a) 51 

(b) 47 

(c) 53 

(d) 50 

 

Q27. In certain code language. ‘GUJRAT’ is written as ‘BPEMVO’. What will be the code for ‘JAIPUR’ in that 

code language? 

(a) EVDKPM 

(b) EVEKPM 

(c) EVKPEM 

(d) EVDPKM 
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Q28. Which option will replace the question mark in the following 

series? 

AT, EO, IJ, ? 

(a) OM 

(b) ME 

(c) EM 

(d) OF 

 

Q29. Which number will replace the question mark in the following 

series? 

1681, 1849, 2209, 2809, ? 

(a) 3375 

(b) 3249 

(c) 3481 

(d) 3600 

 

Q30. Which number will replace the question mark in the following figure? 

 
(a) 9 

(b) 5 

(c) 11  

(d) 14 

https://www.adda247.com/product-comprehensive-video/5137/ssc-extreme-complete-preparation-for-ssc-exams

